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1. Which of the following sets of vectors are linearly independent?

a. 
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in (R3, R)

b. e-t, te-t, e-2t in (U, R), where U  denotes the set of all piecewise continuous functions defined on [0, ∞ ).

c.
3s2+s-10,  -2s+3,  s-5  in (R3[s], R)

2. Compute eAt for 


[image: image2.wmf]ú

û

ù

ê

ë

é

=

0

1

1

0

A


3. Compute Φ(t,0) for
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4. Problem 4.2 of Text.

5. A discrete-time LTI system with matrix 
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, with a ≠ 0, has zero input response 
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 at k = 4.

a) What will the state be at time k = 7

b) What was the state at time k = 2.
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